Assignment No. 01
Digital Logic Design / Digital Systems
BC (SE) & BS (CS)
Spring Semester 2019

Note: Attempt all questions.

Q.1  Whatis the weight of 7 in 1799107
Q.2  Give the value of each digit in 543610?
Q.3  Convert the following:

111111115 =( ? )10
12710=(7?)2

45.2510=(? )2
10000000.10102=( ? )10
4D7F16=( ? )10

12810=(? )16

3A6F16=(7?)2
1100001111100101>=("? )1e
6173s=(? )10

jo 16910=(7? )s

K. 3740s=(7?)

. 1010110001011111,=(?)s

-~ 0o o0 T @

= @

m. 2A7Dis=(7?)s

n. 7503s=(7?)s

0. 11111111, =%(?)wo hint: [use 2’s complement form]
p. -1210=(7?)2 hint: [use 2’s complement form]
qg.

15610 = ( ? )sco
1000011100008co=( ? )10
s.  10010102=( ? eray
10101111 gray=(? )2

0100 0000 = ( ? )asci-small
0110 0000 = ( ? )ascil-capital
111000 = (?111000)even pariy
101101 = (?111000)0cg party
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Q.4 Calculate each of the following:

Q.5
Q.6

Q.7

a.

s @

K.

b
c
d.
e
f

J.

11110011, + 01011111,
10000000, - 01111111,
11002 x 11>

1100; + 102

01111111, -00000111;
011010102 x 11110001;
10001000, + 00100010,
FCis + AE16

Fli6 — AB1s

6D16 — 3F16
00010110gcp + 0001 01018co = ( ? )10

Apply modulo-2 to 1100 >+ 1011..
Apply CRC to the data bits 10110010 using the generator code 1010, to produce the transmitted CRC

code.

hint: [use 2’s complement form]
hint: [use 2’s complement form]

hint: [use 2’s complement form]

hint: [use 2’s complement form]

hint: [take care of invalid BCD code]

Assume that the code produced in problem Q.6 incurs an error in the most significant bit during

transmission. Apply CRC to detect the error.

Ws/; %m A:Z/f the oEeJt



